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-  (Product) 

-  (Price) 

-  (Place) 

-  (Promotion) 

-  (People) 

-  (Process) 

-  (Physical evidence) 

 713 

 (Taro Yamane, 1973 : 

125 )  0.05

n = N / (1 + Ne2)

e =  ( 0.05 ) 

N = 

n = 
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 = 713 / [1 + 713(0.05)2]

= 256.2443  

= 260 

1)   (Primary Data)
 260 (Questionnaire)

2)  (Secondary Data)
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 3

 260
 (Descriptive Statistics)  (Frequency)  (Percentage) 

 (Mean) 

(Frequency)  (Percentage)  (Mean) 

 (Rating Scale) ( , 2546) 
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4.50  - 5.00  

3.50  - 4.49  

2.50  - 3.49  

1.50  - 2.49  

1.00  - 1.49  

 2552 –  2553 

 2552   2553
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